18.1.21 Daily Ten

Partition 3281.

What is the difference between 357 and 9517

55+11=

Ox38=

6x7x3=

What are the next 3 numbers in this sequence: 55, 105, 155,
What are the factor pairs for 18?

654 + 654 =

. M-CCCL=

10.358 x 3 =
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18.1.21

Ll: To multiply a three-digit number by a one-digit number




Fluency & Complete the calculation.

Hundreds Tens Ones | W T o
@0 000 : -
Spr4.2.3 - Multiply 3-digits by 1-digit on Vimeo Q Q 000 % | |s
20 Q00

. A school has 4 house teams.
There are 245 children in each house team.
How many children are there altogether?

00 000000000 , .

©0 000000000
00 000000000 -
00 000000000

. Write the multiplication represented by the counters and
calculate the answer using the formal written method.

8000000000
0000000000

Ones



https://vimeo.com/492456871

Complete Monday worksheet and answer Monday true or false question.



